O 133 ol BEAF2] Ao)7t 1 ) ARZolA tan x & WEH=

PR

- .

—

(©len




sinA:cosA=4:5%U T, tan(90° - A) 2] Bt 5ot

2 3 4 3
°o; oy o5 o7 O
SinA :cosA=4:5
4cosA =5sinA ;. tanA = sinA :A—l
cosA 5
1
tan(90° —A) =
an( ) tan A
cosA 5
. tan(90°—A) = = -
an( ) sin A 4




3.

A+B=90° (F A>0°B>0°< o, ot

@ sin(90°—A) = cosA
(@)sinA xXcosB=1

inA
® tanA = i
cosA

o

Z oA gL

@ sin?A=1-cos?A

@ tanAxtanB=1

¢
. sin(90° —A) = cosA

c

&
. sin?A =1-cos?A

a a
@sinAxeosB:—x—:(
c c
. sinAXcosB#1

@ tan A X tan B = =1

b
X —
a

SR

@tanA:g:a+c_sinA

b+c cosA

b
@ sin(90° — A) = sin B = - = cos A

a’® + b? _

A

2 b2
@ sin®A + cos? A = (L—l) 4k (Z




sin 30 °
cos30°

@

(

V2

B

1

5~

&l-

sin 90 °

X tan 60 ° +

sin 30 ° X cos 60 °

@ V3 ® 2

o gre?

@ 3

®)5

2 2

XV3+1x4=5

——i§>x\/§+1+<lx%>




oS 187 & AABC oA AB = 4em A
,BC =8cm, /B=60°<¥ o}, AC ¢] Z4o]

@ 44/3cm @ 5v3cm
® 6v3cm @ 5v2cm
® Tcm

>C

. H _Z
“~-8em-

AH = 4sin 60°
V3

HC =8-BH
= 8 — 4 cos60°
=8-2=6
AC’ =AH +HC o= &
AC’ = (2V3)2 +62 =12+ 36 = 48
. x = 4v3(cm)




e 187 e HPAHEFE ABCD
oA HZHAAC ©] Ao]=?

@ 3+5 @ 2V7
@)2vis @ 313
® 413

A A oA BC o W 5:419] wH& E 21 5hd
AE = 6xsin60° = 3 V3, BE = 6xc0s60° =3, CE=8-3=5
ojth. wetAl AAEC o metugtA 25 A8olH AC =

3\/32-1-52:\/5_2:2\/@0]1—/]_‘
(3V3)




7. TS 1™9] AABCO] Hol&=?

D 7V2cm? @14\/§cm2 ® 21V2cm?
@ 282 cm? ® 56 V2 cm?

1 5
5 X Tx8xsind5 =28 ‘/7— = 14V2(cm?)




8. TS 1A AH = 8cm ¥ |, BC 2] Zol&?

@ 2;;/_§(jm @ ?Cm @ 2_\/30111
D 32«/50m 6 10«/§Cm
3 3
AH
sin 30° = —
AC
— AH
C= Sn30° 8+ 5= 16(cm)
sin 60° = £
BC
== __AC V3 _.3243
/\ = = - = le)
et BC = —— o =16+ —= = 32— (cm) °|}.




chet 2-& A28 ABC ol 4 AC 9
Z___}

@ 40 )50 ® 60

AC = 100sin 30°

1
00><2




10. o2 I3 22 AABC 94 /B =85°, /C = A
65°, BC =12 & o, AB 2] Zo|Z A5H o}
A 2] 7FA] FESHH? (T, sin 65 ° = 0.9063)
@ 20.153 @21.751 3 22.482

@ 23.581 ® 24.372

B ~

/A =180°-(85°+65°) =30°
BH = 125in65° = 10.8756

BH
sin 30 °

. AB= = 10.8756 x 2 = 21.7512




11.

o 19H9] AABC ol &0l h & F A
ShH?

@25 @43 @)pvE @3V  O5v2

B

h

1 A - =

Jol A V3r + 7 A
20,%%:20

.~.h=20><i:5\/§

43




12. & 183}t o] AABC oA A =
75°, /B=60°, AB=10cm & o,
h ©] Ao|E FohH?

57‘5(:111 @ 10cm
@5x/§cm ® wcm

T3} o] B4 A o4 BC o] Y& 540
AD

i °= — O|H=x

sin 60 10 ]

AD = 10sin60° = 5 V3( cm)




13. TF T3} 2L AABC oA 0] h & FolE?

A

v\

s~-Hogg _---

© 10(v2-1) @)10(V3-1) ® 10(V3- V2)

@10(2\/5—1) @10(@-2)

B

2
i 0

~ tan (90°2 —45°) + tan (90° — 30°)




14.

i)

o3 2193 g2 FHAG
ABCD oA &= tjztdo] o] %
o] 2717} 135° o], § 17} 135°

o of, thZ-de] dolE F5tH B C

ﬁi“ il

& rlr

® 8 @)1+5 ® 123
@ 523 ® 1043

AC=BD = x& stH —x 25in45° = 20V?2, \/_x = 202,

x2 =80, x =45
~AC=BD =45




15.

the up= o] Yolrzt 103 et o o,

o] nEE gk He] dole?

® v @25 @35
@ 4v5  ® 55

(MFE R Ho]) = x x x x sin(180° — 120°)°

‘/;x? =103

x2 =20
~x=2v5




16. t©& AF2+E ABCD 94 AB = 10, BC = 65, BD = 12V3
OABCD 9] ylo]&=?

A
D \
10
7> ,"
120 .y
C g5 B
D 1670 @18«/7_0 ® 20V70
@ 2170 ® 2470

B

=

AC = /102 4 (6 V5)2 = V100 + 180 = 2 V70
DABCDS] Ho]

_1 X 12 V3 x 2 V70 x sin(180° — 120°)

— 5><12«/§><2\/%><sin60°

:%x12\/§x2\/%x\/7§:18\/%

bl



17. tanA = V3L o, (1 +sinA)(1-cosA) 2] #2? (F, 0° <A <90°
)

o 1+4«/§ @ 1+4\/§ 5 2+4«/§
@2+4\/§ 5 3+4\/§

B ~

tanA = V3 W], A =60°
(I14+sinA)(1--cosA)
= (1 +sin60°)(1 — cos 60 °)

()0

_1<2+«/§>_2+«/§
= =

2




[=p}

18. /C=90° ¢l AABC °J|A] tanB = 3 o o, sinB 9 &2

A

\




19. sin(90°-A) = % A o, tanA ] F-2? (F,0° <A <90°)

5 5 12 13 12
@ = ® = @ — ® 3

®E 13 5

B

sin (90° — A) = cos A

5
tanA = —
an 12

BEEPN
13cm N
.
L’ 5cm
z '
P /

A\‘~12cm-‘/




20. (5sin90° - 2cos0°) x (2tan45° — 5c0s90°) o] ZE X, 10cos0° +
5tan45° x 2sin90° o] gk ¥ 2 & of, X + ¥ 9 g2

@10 @9 ® 0 @ 1 ® 3

X=(5-2)x(2-5%x0)=3x2=6
Y=10+5x2=40]B%
X+Y=6+4=10




7]
th. BC ] dol=?

21. oo Ze AZAZE ABDF Y 4
Z

~
l ‘

\

\ 0=
8 >

\

CD =8, BC = x2}1! 5}H

tan30°:A=D: .
BD x+8
1 8
VB xe YTV

L~ x=8V3-8=8(V3-1)




22. O|APAA] 6x2 —3x—2V3x+ V3 =02 T 0] tanA, sind < o,

cosA 9 3F2?
(2, 0° <A <90° tanA > cosA)

“l%

V3 V3 V2
or @F ov oF o

D \
6x>—3x—-2V3x+ V3=0

6x> - (3+2V3)x+ V3=0

(2x-1) (3x- V3) =0

V3

1
oy - El = YO
T3 =g

ojmZ /A =30°,

N | =

El:]-a'/\‘] tanA = ‘/?g O]_—]—’_ SinA =

V3 ol

o_ ' o
cos 30 B




